FRMERF2020F ESERARIRB2021FRHABEM T2 UMREREAREE S

e | w4 S FEEA pam | RRTOREA o

1 i) 3708831 sktkstotsiotskd X SV 95 17 )

2 g 37110219tkokiotk28 L B 88.67 B

3 *K B 371581 19kktkki+80 VA T 88.00 )

4 T 4114021 Qksoortok2X S 87.00 =

5 * T 4414811 Porrkorn03 oy 85.50 =

6 *IKIY 320623 19skkstksork2X A I 3550 )

7 e i 330106 1 Pktotionn2’ ol A 85.34 A7

8 iz 1401091 9#etiortoox 25 HOAR L e 7 85.00 o

9 WP 431227 19kskkorkHk43 g 85.00 =

10 Gl 42102220%Hkk4k54 22 g 84.84 =

11 R R 370481 19#tkiottk35 il EE 84.17 I3

12 R R 4128271 9ksssiiorkd 3 R 34.00 )

13 ke P 210703 19kkkk35k%26 A 83.50 =

14 ki 3707251 Qeksotlontok 76 N 33.17 )

15 i 1310261 9tkootonk 2X ] 83.00 =

16 wllEii 51111219tttk 17 R 22 i S 82.84 0

v R 13063019tttk 12 HoR 2 e 82.50 B ey

18 kK 3302061 9pkkiok24 S 82.17 =

19 Gl 2113021 Pkstksroksn29 g 82.00 =

20 KRR 440883 1 Pottoriorx25 A 82.00 e

21 G 37010319tk | VA T 81.50 )

22 i 3422251 Qeksotloiotk24 N s 3134 ) TR
23 411 7] 51012520%kkkk%+29 o 81.34 "

24 QB | 3723211 9tttk 07 i 81.17 =

25 R E 5003821 kttortok85 N L 3084 )

26 55k P 430111 19skkkk+26 L B 80.34 B

27 ol 340421 19kskkikk 19 g 79.34 )

28 * 3706831 Qskkorkokk 27 S 79.34 B

29 KU 411526 1 Pkttt b PR 79.17 =

30 R 5101231 9kkortoi+26 AL e 79.00 5

31 HERHE 3301081 9sotkokon22 VA 79.00 i

32 kR A 440106 1 pkiorkin22 e 79.00 "

33 s 2205211 Yotk 29 VA 78.84 B

34 58 4 3205821 9xkkirckkk 16 VT 78.34 H

35 * 6101151 9kkottokek25 TRERAE CERED 78.17 3

36 * [ M 610629 1 9kicionk52 TRgIAR (ERAD 78.17 4

37 k 6227251 9xkpkikk X TREEARE CERED 78.17 b

38 * 1504261 9rtttr*65 TRISIAR ERED 77.84 S8

> *IHE SILBRIG s TREHAR CERAD 77.84 T

40 HEE T 4401041 9kkpkk£23 TRk (AR 7750 A

41 fATL 3710021 Qetekiotctk26 TRERAE CERAD 77.17 3

12 b 4114811 9wwonti20 | TREFBERKE CFARAD 76.67 ik

43 *in A 61032920kkotkokokq 2 TRERAE CERAD 76.50 3

44 et 4108831 9spsiirnk28 TREHEAEL CERAD 76.17 R

45 e 3714241 9%k0kkkrx08 TRgEAR CERED 76.00 3 4

46 * i) 350627 1 9tk 14 TRSIEAR (ERED 75.34 4

47 1A 6103021 Gotonk2T TREEAEL R 74.84 e

48 ol S} 42010320%8k88%45 TRISIEASE CERED 74.50 TR

29 * RS 37030519%krnnld | TREFFIAE (R 73.84 ik

50 * W 11010819kttt 2 TS A (2 M) 73.50 T

> il | 3705021 Gtotobvtiok1 4 TREIAE CERRD 73.00 A

52 *ELS 4201041 Qottotioiortd 4 TREEAL ERED 72.34 TR

53 R ME 23020219%kkHkkk27 TRSHAR CGERRD 72.17 38 b T 415
54 AR 41282820%kkkH4%83 TREEAEL CERED 71.84 A

> a1 5LOIBL10#kstin29 | TREHAR CERED 7184 ik

56 KU 321181 19%kkkkk+25 TRISIEAR ERED 71.67 S8

57 *IR 3714281 9kkktkkk25 TRIETAS CERR) 71.67 A

58 * Kt 3702851 9tksotopsk26 TREHASR CERAD 71.67 SR [E RS
>9 iz 36042920 k4k5k56 TREEAL ERED 71.67 AR

60 T Fil 4451211 9#skkkkk80 TRIEEAEL AR 71.34 A

61 IR 1101081 9otttk 12 TRSHAE ERRD 71.34 3 b -1
62 kY 210623 1 9xkkrkk+29 TRSHAK ERED 71.34 b

63 il les 3303021 Pktotoioiir2X TREEAEL CGERED 71.00 A

o1 ok 3] LAlDSUE bt 5 TREHEARL FARM) 71.00 b 4

65 i 3210021 9k#kkkoxk24 TREHAR CERAED 70.67 e

66 RS 1306311 9ottt 1 3 TR K (2R 2017 T

67 KA 452225 1 9kkiori*20 TS AR (ZARA) 69.84 A

68 *j5e il 4109222022 TREEAR CERR) 69.34 TR

69 kil 14270319kt 49 TREHAE CERED 69.17 b

70 *A 4210021 9#tkikikd() TREHEAEL CERAED 68.67 R

71 ARy 41152620%*x5k4%40 TREHEAE CERED 67.50 AN

72 WSS 371427 1 Pkppiikx6d TREEAEL GERED 67.50 A

73 KU 320703 1 9kottkir28 TREEAEL R 66.00 A

2 i D020 Orroretor TR CERA) 65.84 S A

75 k17 3 3310821 Qokototk63 TR A (AR YRE, BT

76 S I 4103272055545 22 TR AR (AR 63.34 A

Z L 32108819%kkakkaa2] | TRIEEIAK CERA) 63.00 i

78 KRR 4401821 9%kk3kk4%16 TRSHAK ERED 89.67 7 R
79 FRF A 440307 19kkiopkixd2 TRSHAL ERAD 85.34 7 e 3
80 G 42220220ksksk0k% 15 TREEAEL CGERAD 76.00 7 R e
81 * 41022419tk | TREHEAE CGERED 71.67 75 R R
82 kY 37091 119ksoksonk23 TREERE CERED 70.00 5 A B
83 *it 3704061 9tk | 7 TREEAL R 68.50 % TR S %
84 kMY 4404021 9sloksolokoiok 77 TR AR (CERR) 6734 PR E R
85 * 5 UK 43052320kkkkk4% 26 TR AR (ZAE) 63.67 PR ST
86 A 3412251 Qrotiotk | 7 TREEAEL CERAD 62.00 % R IR
87 * 4401051 9kkiopkix2X TRSHAL ERED 62.00 7 SRR AR
88 k% 37078619%kkkakk2X TRSHAL ERAD 61.67 7 T e AN R
89 R 37050219%kkkakk21 TRSHAL ERED 61.34 7 R R
90 T i 51041 119kskskikk24 TREHEAR AR 60.50 %5 R K
91 ES ] 1302271 9ksbkionk25 TREHAE ERED 57.84 7 B e
92 A 1306221 9kspkionk23 TREHAE ERED 57.50 7 B e
= al 360121 1wekein26 | TREHAR AR 55.34 = ST
94 kI 4103271 Ptttk 7 TR AR (AR 0.00 = e

95 * K 1101051 9%skketkotk29 TRk (LR 0.00 PR e

1w, H1:m




